67.000 :100 = .....cueuene. 5.900:100 =...............

500.000:1.000 = ................ 430.000:10 = ...............

70.000 : 100 = ...ccevvverirrnenen 800:100 = ...ccovrerennen.

34.100: 10 = .ccovriiriiriieens 13.000 : 100 = ...............

980.000: 1.000 = .....ccevveruennes 800.000 : 100.000 = .......

120.000 : 10.000 = .........c...... 51.000:100 = ...............

450:10 = ...ccceeueenee

59.000:100 = ....cccceevurene.

780.000:10 = .....ceuvenee.

9.000:100 = ....c.ceeueee.

508.000:1.000 = .......ccvruneee.

690.000 : 10.000 = ..........c......

67.000:100 = ......ccuenuee. 5.900:100 = ...............

500.000:1.000 = .........e....... 430.000:10 = ...............

70.000 : 100 = ...ccovvvevirrnenen 800:100 = ...ccoovevurnen.

34.100:10 = ..oouiriviriiecs 13.000 : 100 = ...............

980.000:1.000 = .....cc0evvvruernnen 800.000 : 100.000 = .......

120.000:10.000 =................. 51.000: 100 = ...............

450:10 = ...ccuerueenee 29.000:10 = ...cctvveuennnn
59.000:100 = ....c.oueuune. 888.000:100 = .............
780.000:10 = ....cccuvenen. 220.000:10.000 = ......

9.000:100 = ....coceuunnee. 410.000: 100 = .............
508.000:1.000 = ......ccoveeuueenee 15.000 : 1.000 = ............
690.000 : 10.000 = ..........c..... 250:10 = .ociiiiririnn




